

$$y_s = \frac{-\Delta}{4a}$$

$$v = \frac{4ac - b^2}{4a} = \frac{-12 - b^2}{-4}$$

$$28 = 12 + b^2$$

$$b^2 = 16$$

$$b = \pm 4$$

۱

$$\text{الف) } f(x) = x^2 + 2x^2 + 3$$

$$\Rightarrow \begin{matrix} x^2 = t \\ t^2 + 2t + 3 = 0 \end{matrix} \Rightarrow \Delta = 4 - 12 = -8 \Rightarrow \Delta < 0 \text{ جواب ندارد}$$

$$\text{ب) } f(x) = (4 - x^2)^2 - 2(4 - x^2) - 15$$

$$\Rightarrow \begin{matrix} x^2 = t \\ t^2 - 2t - 15 = 0 \end{matrix} \Rightarrow (t+3)(t-5) = 0 \Rightarrow \begin{cases} t = -3 = 4 - x^2 \Rightarrow x^2 = 7 \Rightarrow x = \pm \sqrt{7} \text{ غ } \\ t = 5 = 4 - x^2 \Rightarrow x^2 = -1 \times \text{ غ } \end{cases}$$

۲

$$\alpha = \beta + 2 \quad \left(4x^2 - 12x + m = 0 \Rightarrow x^2 - 3x + \frac{m}{4} = 0 \right)$$

$$\alpha - \beta = 2 = \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{12 - m}}{1} \Rightarrow 12 - m = 4 \Rightarrow m = 8$$

$$x^2 - 3x + \frac{12}{4} = 0 \Rightarrow x^2 - 3x + 3 = 0$$

$$(x-3)(x-1) = 0$$

$$x = 1/3 \Rightarrow \alpha = 3, \beta = 1$$

۳

$$2\alpha - \beta = 4$$

$$\alpha = \frac{4 + \beta}{2}$$

$$S = 2 = \alpha + \beta = \frac{4 + \beta}{2} + \frac{2\beta}{2} = \frac{4 + 3\beta}{2} \Rightarrow \beta = 0 \Rightarrow \alpha = 2$$

۴

$$\Rightarrow \begin{matrix} \alpha x(x-2) = 0 \\ \beta x(x-2) = 0 \end{matrix} \Rightarrow \begin{matrix} 4x^2 - 8x = 0 \\ 3x^2 - 6x = 0 \end{matrix} \Rightarrow m - 1 = 0 \Rightarrow m = 1$$

$$p = 1 \Rightarrow \frac{m^2 - 2}{-m} = 1 \Rightarrow m^2 - 2 + m = 0 \Rightarrow m = -2/1$$

$$\Delta > 0$$

$$12 - 4(-m)(m^2 - 2) > 0$$

$$12 + m(m^2 - 2) > 0$$

$$m^3 - 2m > -12 \Rightarrow \begin{cases} \text{اگر } m = 1 \Rightarrow 1 - 2 > -4 \Rightarrow -1 > -4 \checkmark \text{ غ } m = 1 \\ \text{اگر } m = -2 \Rightarrow -8 - 4 > -4 \Rightarrow -12 > -4 \times \text{ غ } m = -2 \end{cases}$$

۵

